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Question No : 1

Which of the following is NOT a key frustration of the business integration environment?

A. Relianceon multiple integration tools.

B. Integration capability based on older technology.

C. Integration tools do not handle EDI/B2B/SOA.

D. Integration tools do not provide visibility across the supply chain.

Answer: D

Question No : 2

Which of the followingcannot be adjusted using the Performance Tuning wizard?

A. Number of available CPU's.

B. Allocated physical memory.

C. Database pool connections.

D. Priority levels of work queues.

E. JVM memory and system cache settings.

Answer: D

Question No : 3

Whichof the following is NOT a key business benefits of deploying Sterling B2B Integrator?

A. Reduced administration costs.

B. Enable more of your trading partners.
C. Reduced man-power required.

D. Integrated security management.

Answer: D

Question No : 4

Which of the following is NOT an approach typically used for enabling smaller trading




partners?

A. SMTP e-mail with attachments.

B. Web extensions to create custom web portals for data entry by small partners.
C. Fully automated EDI.

D. None of the above.

Answer: C

Question No : 5

What is the function of the perimeter server?

A. Enables business processes to be scheduled.

B. Provides a session break for communications in the De-Militarized Zone (DMZ).
C. Stores common "state" data which can be accessedby all nodes in the cluster.
D. All of the above.

Answer: B

Question No : 6

What are the key challenges around managing smaller trading partners?

A. Smaller partners generate the smallest volume of messages.

B. Smaller partners will have non-standard ERP systems.

C. Smaller partners typically require manual processes which are more costly and time-
consuming.

D. Smaller partners EDI systems will only accept the latest EDI / B2B standards.

Answer: C

Question No : 7

Which of these Application Services areprovided with Sterling B2B Integrator?

A. Web Services, Web Extensions, Java SDK and Managed File Transfer.




B. Document standards, routing, integration adapters, transformation and mapping,
community services and communication services.

C. Event management, presentation services, dashboard services, auditing & reporting.
D. B2B orchestration, workflow, process modeling, process templates.

Answer: A

Question No : 8

Which of the following is NOT a factor hindering multi-enterprise integration efforts?

A. Customers and suppliers expect higher levels of service from their call centers
B. Increasingly complex and time sensitive supply chains

C. Customers and suppliers requiring more B2B activities

D. Customers expect improved B2B capabilities

Answer: A

Question No : 9

Which of the following are architectural components of Sterling B2B Integrator?

A. Services or Adapters that perform various actions.

B. Process engine which is the main execution mechanism.
C. Work queues with a dedicated thread pool.

D. Allof the above.

Answer: D

Question No : 10

Which of these technology approaches will NOT be likely to address the challenges of
multi-enterprise integration?

A. Improved monitoring of customer transactions.
B. More granular auditing of transactions.
C. Insistence on only using a single B2B protocol and standard.




D. Consolidation of multiple point solutions to a single platform.
E. All of the above.

Answer: C

Question No : 11

Which of these Process Management Services are provided with Sterling B2BIntegrator?

A. B2B orchestration, workflow, process modeling, process templates.

B. Document standards, routing, integration adapters, transformation and mapping,
community services and communication services.

C. Event management, presentation services, dashboard services, auditing & reporting.
D. Web Services, Web Extensions, Java SDK and Managed File Transfer.

Answer: A

Question No : 12

Which of the following is NOT a recommended deployment model for Sterling B2B
Integrator?

A. Active/Active clustering with an external database.

B. Active/Active clustering with a local database.

C. Active/Active clustering with database replication at a remote site.
D. Warm standby at a remote site.

Answer: B

Question No : 13

Which of these does NOT enable scalability?

A. Multi-queue design.

B. Active-active clustering across multiple server nodes .
C. Support for multiple operating systems and databases.
D. Common state information stored in the database.






